R For Data Science Cheat Sheet General form: DT (1, 3, byl— & Advanced Data Table Operations

« H . . » > DT[.N-1] Return the penultimate row of the bT
data.table Take DT, subset rows using i, then calculate 5 grouped by by i Rt e P et ot e
X - - - > DT[,.(V2,V3)] Returnv2 andv3asadata.table
Learn R for data science at www.DataCamp.com ndating Columns By Reference in j Using := > DT[,list (V2,V3)] Returnvzand v3asadata.table
> DT[,mean (V3),by=. (V1,V2)] Return the result of §, grouped by all possible
> DT[,V1:=round(exp(V1),2)] v1is updated by what is after : = vl v2 v1 combinations of groups specified in by
> DT Return the result by calling DT 1: 1 A 0.4053
nw SR
data.table 1:2.72 A -0.1107 1 P
; 5 5 2: 7.39 B -0.1427 2 o 5 m 0 eans
data.table is an R package that provides a high-performance 352,72 C -1.8893 3 6: 2 c -0.6443
version of base R’s data . frame with syntax and feature e .SD & .SDcols
enhancemfants for ease of use, convenience and p > DT[,c("V1","V2") :=1ist ‘i‘g;?&ﬁi?ﬁi (\é:]L; i 2), aﬂ:tnil::f\tlelrald V2 are updated by > DT[,print (.SD),by=v2] Look at what .SD contains
programming speed. & > DT[,':="'(Vl=round(exp(V1l),2), ’ Alternative to the above one. With [1, > D[, -SDlc(l,.N)],by=v2] Select the first and last row grouped by v2
o= V2=LETTERS [4:6]) ] [] you print the result to the screen > DT[,lapply(.SD,sum),by=V2] |Calculate sum of columnsin .sp grouped by
Load the package: et vive  viva v )
> 1lib (data.table) 1: 15.18 D -0.1107 1 > DT[,lapply(.SD,sum),by=V2, Calculatesumofv3andv4in .spgrouped by
ibrary(data.table 0. 161091 B —0.1427 o .SDcols=c ("V3",6"v4")] v2
. 3:  15.18 F -1.8893 3 o vs e
CreatingAdata.table 4: 1619.71 D -0.3571 4 SR S

2: B -0.478 26

> DT[,V1:=NULL] Remove v1 3: C -0.478 30
i g?t;fezgégéiéble (Vl=c (1L, 21L), gr:zaz:;i?;;a'table > DT[,c("V1","V2") :=NULL] Remove columns v1 and v2 > DT[,lapply (;SD, sum) ','bx=v? , |Calculate sum of v3 and v4 in . sD grouped by
V2=LETTERS[1:3], > Cols.chosen=c("A","B") ) .SDcols=paste0 ("V",3:4)]|v2
V3=round (rnorm (4) , 4), > DT[,Cols.Chosen:=NULL] Delete the column with column name
V4=1:12) Cols.chosen ) ) 575
> DT [, (Cols.Chosen) :=NULL] Delete the columns specified in the Chalnln [

. . " variable cols.chosen
Subsettln 0 ROWS US]n 01 > DT <- DT[,.(V4.Sum=sum(V4)), | Calculatesum of v4, grouped by vi
n by=V1]
DT[3:5,] Select 3rd to 5th row Indexing And KeyS V1 va.sum

>
> DT[3:5] Select 3rd to 5th row : : S— 1001 36
> DT [V2=="A"] Select all rows that have value & in column v2 > setkey (DT, V2) Akey is set on v2; output is returned invisibly 22 2 42
> DT[V2 %in% c("A","C")]| Selectall rows that have value A or c in column v2 > DT["A"] Return all rows where the key column (set to v2) has > DT[V4.Sum>40] Select that group of which the sum is >40
vl v2 V3 V4 the value & > DT[,.(V4.Sum=sum(V4)), Select that group of which the sum is >40
. . . " 1: 1 A -0.2392 1 by=V1] [V4.Sum>40] (chaining)
Manipulating on Columns in j 20 2 A 161 4 v1 V4. gum
3: 1 A 1.0498 7 1: 2 42
> DT[, V2] Return v2 as a vector 4: 2 A 0.3262 10 > DT[,.(V4.Sum=sum(V4)), Calculate sum of v4, grouped by v1,
[1] "A" “B" "C" "A" “B" “C" ... > DT [c("A","C")] Return all rows where the key column (v2) has value a or ¢ by=V1] [order (-V1) ] ordered on v1
> DT[,.(V2,V3)] Returnvzandv3 asadata.table > DT["A",mult="first"] Return first row of all rows that match value a in key V1 va.Sum
> DT [,sum(V1)] Return the sum of all elements of v1ina column v2 oo 1
1] 18 vector > DT["A",mult="last"] Return last row of all rows that match value a in key 2: 1 36
> DT[,.(sum(V1l),sd(V3))] Return the sum of all elements of v1 and the column v2
Vi v2 std. dev.of v3inadata.table > DT[c("A","D")] Return all rows where key column v2 has value a or b
> DT[, . (Aggregate=sum(V1), | The same as the above, with new names 1: 1 A -0.2392 1 set ( ) Famll
Sd.V3=sd(V3))] 2: 2 A -1.6148 4
Aggregate 5d.v3 3: 1 A 1.0498 7 Set( )
v 18 0.a0e000° 45 N:\ 2 o.zzzi ;Z Syntax: for (i in from:to) set (DT, row, column, new value)
> DT[,.(V1,S8d.V3=sd(V3))] |Selectcolumnv2andcompute std.dev.of v3, : R . ’ ! o
which returns a single value and gets recycled > DT [c("A","D"),nomatch=0] Return all rows where key column v2 has value a or > rows <- list(3:4,5:6)
> DT[, . (print (v2), Print column v2 and plot v3 vLve Vs va > cols <- 1:2
plot (V3), Leobon 0 > for(i in seq along(rows)) Sequence along the values of rows, and
NULL) ] i f 2 7152:2 3 {set (DT, for the values of cols, set the values of
v o a0 aes 10 i.:ro‘,l\,s { []1] 1, those elements equal to Na (invisible)
0 . wan wen j=cols[i],
D°|n 0 b Grou > DT [c("A","C"),sum(V4)] Return total sum of v4, for rows of key column v2 that z
Retur ol sum ptteey

> DT[,.(V4.Sum=sum(V4)),by=V1]| Calculate sum of v4 for every group in v1 > DT[c("A","C") Return sum of column v4 for rows of v2 that have value a, _
V1 Vv4.Sum sum (Vzl ), ’ and anohter sum for rows of v2 that have value ¢ setnames ( )
et 36 by=.EACHI] Syntax: setnames (DT, "old", "new") []
. - o Set fv2 t ing (invisible)
_ : 1: A 22 > setnames (DT, "V2","Rating") et name of v2 to Rating (invisible,
> DT, . (Z§;ST$IS$§)(\]]4) ), :Z:(ch:lzate sum of v4 for every group in v1 S . setnames (DT, Change 2 column names (invisible)
> DT[,. (V4. éum:éum (v4)) Calculate sum of va for every group in > setkey (DT,V1,V2) Sort by v1 and then by v2 within each group of v1 (invisible) c("va","v3"),
! by=sign (V1-1) ] ! sign(Vi-1) > DT[.(2,"C")] Select rows that have value 2 for the first key (v1) and the c("V2.rating","V3.DC"))
sign v4.sum vl V2 V3 V4 value c for the second key (v2)
1 0 36 1: 2 C 0.3262 6 setnames ()
& ! “ N ngf 5271‘6(1"4;"12"(:") ) Select that h lue 2 for the first key (v1) and withi Syntax: setcolorder (DT, "neworder")
> DT[,.(V4.Sum=sum(V4)) The same as the above, with new name -(2,c ’ elect rows that have value 2 for the first key (v1) and within =
" by, (V1.0l=sign (v1-1))] for the variable you're grouping by Vi v2 V3 V4 those rows the value a or ¢ for the second key (v2) > setcolorder (DT, C?iage C°'E‘ﬁm2 °rdf”“(9 to C.g:“)e"ts
> DT[1:5,.(V4.Sum=sum(V4)), Calculate sum of v4 for every group in v1 1: 2 a-1.6148 4 c("ve","vi", "vd", "v3")) orthe speciied vector {invisible
by=V1] after subsetting on the first 5 rows 2: 2 A 0.3262 10
> DT[,.N,by=V1] Count number of rows for every group in Z’ ; 2 gzijg 1; DataCamp @
V1 . i Learn Python for Data Science Interactively




